M-G-7-1_Extension Activity and KEY 


The Converse of the Pythagorean Theorem
For example: Is the triangle below a right triangle? Use the longest side as c.
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Practice Problems
Determine if the triangles are right triangles, using the Converse of the Pythagorean Theorem.
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Answer KEY 

The Converse of the Pythagorean Theorem
If the square of the length of one side of a triangle is equal to the sum of the squares of the lengths of the other two sides, then the triangle is a right triangle.  If c2 = a2 + b2, then the triangle is a right triangle.
For example: Is the triangle below a right triangle? Use the longest side as c.


[image: image3]

132 + 842 = 852

169 + 7056 = 7225

7225 = 7225 Therefore the triangle is a right triangle.

Practice Problems
Determine if the triangles are right triangles, using the Converse of the Pythagorean Theorem.
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No: 192 + 202 ≠ 282


No: 82 + 242 ≠ 252


Yes: 332 + 562 = 652
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